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1.  Write your name, school and Index Number in the spaces provided at the top of this page

2.  The paper consists of two sections.  Section I and Section II.

3.  Answer ALL the questions in Section I and any FIVE from Section II.

4.  All answers and working must be written on the question paper in the spaces provided below each 

     Question.

5.  Marks may be given for correct working even if the answer is wrong.
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7.  Non programmable silent electronic calculator and KNEC Mathematical tables may be used except 

     where stated otherwise.
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Section I (50 marks)

1. Simplify 
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(3 marks)
2. Use logarithm tables to evaluate: 
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(4 marks)
3. Solve the following simultaneous equations





(3 marks)
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4. Three metal rods of lengths 324cm, 234cm and 270cm were cut into pieces of equal length to make window grills. Calculate the total number of pieces that can be obtained from the three metal rods.

5. A tourist arrived in Kenya with U$ 10,000. He exchanged all the money into Kenya shillings and spent half of the money in the country and exchanged the remaining to South African rand. Use the table below to calculate the amount of money he got in rands.





(3 marks)




Buying



selling

1 U$ dollar

109.35



110.20

1 SA rand

9.55


            10.05

6. Solve for x in the following equation: 
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(3 marks)

7. Three tractors A, B and C take 4 hours, 3 hours and 2 hours respectively to complete a piece of work when working separately. Tractor A and B started working together but after working for 1 hour 30 minutes tractor A broke down and tractor B and C had to complete the piece of work. How long did B and C working together take to complete the work?





(3 marks)
8. Without using a calculator or a mathematical table, show that 1331 is divisible by 11.

(3 marks)

9. Use square roots, reciprocals and cubes tables to evaluate 




(3 marks)
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10. The volume of two similar solid cylinders are 4096 cm3 and 1728cm3 respectively. The curved surface area of the smaller one is 128 cm2. Find to one decimal place the height of the larger cylinder if its radius is 7cm.










(3 marks)
11. Solve for the value of x in 
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(3 marks)

12. Write down four inequalities which fully describe the  region marked R in the figure 
below.











 (4 marks)
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13. The angle of depression of a point P  x meters away from the foot of the building is 600. The angle of elevation to the top of the building from another point Q 40m from P and is in between P and the foot of the building is 500. Determine by calculation the height of the building.
(3 marks)

14. A line L1 passes through A(4, -2) and B(-8,4). Find the equation of line L2 which is a perpendicular bisector of AB.










(3 marks)

15. The interior angle of a polygon is thrice its exterior angle. Name such a polygon.

(3 marks)

16. In the figure below ABC is a cross-section of a solid. The solid has uniform cross-section. Given that AB is a base edge of the solid, complete the sketch, showing the hidden edges with dotted lines.(3 marks)


[image: image10]
Section II (50 marks)

17.  (a) A salesman earns a basic salary of Kshs.10,000. In addition he gets a commission of 10% on goods sold over kshs.50,000 and 20% on goods sold over kshs. 250,000. In a certain month he sold goods worth kshs. 500,000. Calculate his earnings for that month. 




(4 marks)

(b) A customer bought a cloth whose marked price is sh.600 after been given a discount of 20%. If the shopkeeper made a profit of 30% from the sale, calculate the amount the shopkeeper bought the cloth.














(3 marks) (c) A manufacturer sold an item whose marked price is shs.400, after allowing a discount of 40%. He made a loss of 10%, calculate the cost of making the item. 




(3 marks) 

18. In the figure below, O is the center of the circle. DC and BC are tangents to the circle at D and B respectively. AOB is a straight line ∠ EBC=200, ∠OAD=300.
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Calculate; giving reasons
a. ∠ DBE









(2 marks)

b. ∠BED









 (2 marks)

c. ∠CDB









 (2 marks)

d. ∠BCD









 (2 marks)

e. ∠OEB









(2 marks)

19. A bus left Nairobi and travelled towards Eldoret at an average speed of  60km/h. After 2 hours, a Nissan left Nairobi and travelled along the same road at an average speed of 80 km/h. If the distance between Nairobi and Eldoret is 600km , determine
a. (i)the distance of the bus from Eldoret when the Nissan took off.


(2 marks)

(ii) the distance the Nissan travelled to catch up with the bus.



(4 marks)

b. As the Nissan caught up with the bus, the Nissan stopped for 20 minutes. Find the new average speed at which the Nissan travelled in order to reach Eldoret at the same time as the bus.












(4 marks)
20. The figure below shows two intersecting circles with centres A and C, of radius 5cm and 8cm respectively. The common chord EF=6cm. 

[image: image12.emf]
Calculate
a) Angle EAF








(2 marks)

b) Angle ECF








(2 marks)

c) Calculate the area of common region between the two intersecting circles.

(6 marks)
21. The diagram below represents a solid consisting of a hemispherical bottom and a conical frustrum at the top.
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a. Determine the height of the cone from which the frustrum was cut.


(2 marks)

b. The surface area of the solid







(6 marks)

c. The volume of the hemispherical part






(2 marks)

22. The table below shows the distribution of marks of 30 students in a Mathematics test in a Form one class. Use it to answer the questions that follow.
91

83
95
98
85
88
89
84
81
79
95

92
76
79
85
91
82
91
91
82

91

78
77
99
90
94
87
79
84
80

a) Starting with 75 – 79 as the first class form a frequency distribution table.
(3 marks)
b) Using the frequency distribution table in a) above, find

i. the median







(3 marks)

ii. the mean.







(4 marks)
23. Four towns P, Q, R and S are such that Q is 160km from P on a bearing of 0650. R is 280km on a bearing of S280E from Q. S is due west of R on a bearing of 1550 from P using the scale of 1cm to represent 40km,

a. Show the relative position of P, Q, R and S.




(6 marks)

b. From the diagram, find

i. The bearing of S from Q







(1 mark)

ii. The bearing of P from R







(1 mark)

iii. The distance of PS and SR






(2 marks)

24. Given an equation of a curve
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a) Differentiate y with respect to x.







(2 marks)
b) Find the gradient of the curve at the point when:

i. 
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(2 marks)

ii. 
[image: image16.wmf]0.5

x

=










(2 marks)

c) Find the turning point(s) of the curve and determine their nature.



(4 marks)

d) Find y-intercept of the curve.








(2 marks)
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